

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2021-031 PURCHASE OF TRAFFIC SIGN MATERIALS

#	Description	Qty	Unit-Price	Extension
			GARDEN STATE HWY PRODUCTS, INC MILLVILLE, NJ	
1	9" X 12" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	50.00	5.51	275.50
2	12" X 6" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	50.00	4.27	213.50
3	12" X 12" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	50.00	7.18	359.00
4	12" X 18" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	200.00	8.36	1,672.00
5	12" X 36" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	20.00	21.19	423.80
6	18" X 18" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	50.00	15.89	794.50
7	18" X 24" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	100.00	21.19	2,119.00
8	24" X 12" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	50.00	14.12	706.00
9	24" X 24" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	125.00	28.25	3,531.25
10	24" X 30" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	50.00	35.32	1,766.00
11	24" X 48" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	10.00	56.51	565.10
12	30" X 12" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	20.00	17.66	353.20
13	30" X 18" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	20.00	26.48	529.60
14	30" X 24" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	50.00	35.32	1,766.00
15	30" X 30" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	62.00	44.15	2,737.30
16	30" X 36" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	20.00	52.97	1,059.40
17	36" X 8" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	20.00	15.26	305.20
18	36" X 12" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	20.00	21.19	423.80
19	36" X 18" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	18.00	31.78	572.04

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2021-031 PURCHASE OF TRAFFIC SIGN MATERIALS

#	Description	Qty	Unit-Price	Extension
			GARDEN STATE HWY PRODUCTS, INC MILLVILLE, NJ	
20	36" X 36" ALUMINUM SIGN BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK PUNCH	25.00	63.56	1,589.00
21	24" PENTAGON SHAPED ALUMINUM BLANKS - MINIMUM .080 GAUGE 5052 H-38 ALLOY STOCK (3.9398)	15.00	25.91	388.65
22	30" PENTAGON SHAPE ALUMINUM BLANKS - MINIMUM .080 GAUGE 5052 H-38 ALLOY STOCK (3.9398)	15.00	39.41	591.15
23	36" PENTAGON SHAPE ALUMINUM BLANKS - MINIMUM .080 GAUGE 5052 H-38 ALLOY STOCK (3.9398)	15.00	54.67	820.05
24	24" X 30" RECTANGLE ALUMINUM BLANKS - MINIMUM .080 GAUGE 5052 H-38 ALLOY, STOCK	15.00	35.32	529.80
25	30" X 36" RECTANGLE ALUMINUM BLANKS - MINIMUM .080 GAUGE 5052 H-38 ALLOY, STOCK	15.00	52.97	794.55
26	30" TRIANGLE ALUMINUM BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY STOCK (3.0564)	15.00	22.52	337.80
27	30" CIRCLE ALUMINUM BLANKS MINIMUM .080 GAUGE ALUMINUM 5052 H-38 ALLOY, STOCK PUNCH	15.00	42.05	630.75
28	24" INTERSTATE SHIELD ALUMINUM BLANKS, MINIMUM .080 GAUGE 5052 H-38 ALLOY, STOCK	15.00	26.81	402.15
29	9" X 24" STREET SIGN ALUMINUM BLANKS (FLAT), MINIMUM .080 GAUGE, 5052 H-38 ALLOY , STOCK	50.00	11.50	575.00
30	9" X 30" STREET SIGN ALUMINUM BLANKS (FLAT), MINIMUM .080 GAUGE, 5052 H-38 ALLOY , STOCK	75.00	13.92	1,044.00
31	9" X 36" STREET SIGN ALUMINUM BLANKS (FLAT), MINIMUM .080 GAUGE, 5052 H-38 ALLOY , STOCK	25.00	16.70	417.50
32	9" X 48" STREET SIGN ALUMINUM BLANKS (FLAT), MINIMUM .080 GAUGE, 5052 H-38 ALLOY , STOCK	25.00	22.27	556.75
33	CAPS FOR MOUNTING STREET SIGN TO U-POST, 5.5 SLOT LIGHT DUTY BRACKET, 12"DEPTH, 14/16"WIDTH 200" ULTRA SUPER-LOK	50.00	12.31	615.50
34	CAPS FOR MOUNTING STREET SIGN TO U-POST, 5.5 SLOT LIGHT DUTY BRACKET, 91UF-NU 18 0 SUR-LOK CAP, SCREWS, HEX BOLT	50.00	8.30	415.00
35	CAPS FOR MOUNTING STREET SIGN TO U-POST, 5.5 SLOT LIGHT DUTY BRACKET, 91UF-OL 90 SUR-LOK CAP, SCREWS, HEX BOLT	50.00	8.30	415.00
36	CAPS FOR MOUNTING STREET SIGN TO U-POST, 5.5 SLOT LIGHT DUTY BRACKET FOR FLAT BL ANKS 9-90F (T-BRACKET) PER EACH	50.00	8.30	415.00
37	SIGN BRACKET FOR OVERHEAD MAST ARM	10.00	157.32	1,573.20
38	10' CHANNEL U-POSTS COLOR: GREEN, POST WEIGHT TWO (2) LBS, PURCHASED PER 50	3.00	1,535.25	4,605.75
39	FULL STOP SIGN- HIGH INTENSITY PRISMATIC 24"X24" ALUM L270 ES RA RIGHT CURVE ARROW SHEETING BLANKS, .080G 5052 H-38 ALLOY	100.00	34.71	3,471.00
40	FULL STOP SIGNS HIGH INTENSITY PRISMATIC 30"X30" ALUMINUM SHEETING BLANKS, MIN. OF .080 H-38 ALLOY, STOCK	50.00	52.11	2,605.50

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2021-031 PURCHASE OF TRAFFIC SIGN MATERIALS

#	Description	Qty	Unit-Price	Extension
			GARDEN STATE HWY PRODUCTS, INC MILLVILLE, NJ	
41	FULL STOP SIGNS HIGH INTENSITY PRISMATIC, 48"X48" ALUMINUM SHEETING BLANKS, MIN. OF .080G 5052 H-38 ALLOY, STOCK	25.00	128.47	3,211.75
42	3M STAMARK PAVEMENT MARKING TAPE, NON-LINERED A270ES WHITE 12" X 30 YARDS PER ROLL	60.00	496.21	29,772.60
43	3M STAMARK PAVEMENT MARKING TAPE, NON-LINERED A270ES WHITE 4" X 30 YARDS PER ROLL	10.00	168.03	1,680.30
44	3M STAMARK PAVEMENT MARKING TAPE, NON-LINERED A271ES YELLOW 4" X 30" YARDS PER ROLL	10.00	168.03	1,680.30
45	3M SYMBOLS AND LEGENDS PRE-CUT PAVEMENT MARKING TAPE SMS L270 ES-SA STRAIGHT ARROW (PACKAGE OF 4)	5.00	686.30	3,431.50
46	3M SYMBOLS AND LEGENDS PRE-CUT PAVEMENT MARKING TAPE SMSL270 ES-LA LEFT CURVE ARROW (PACKAGE OF 4)	5.00	972.27	4,861.35
47	3M SYMBOLS & LEGENDS, PRE-CUT PAVEMENT MARKING TAPE SMS L270 ES-RA RIGHT CURVE ARROW (PACKAGE OF 4)	5.00	976.27	4,881.35
48	3M STAMARK SURFACE PREPARATION ADHESIVE, SPA-60, 5 GALLON CONTAINER	5.00	429.25	2,146.25
49	9" X 100 YDS, 3M TPM-5 CLEAR TRANSFER TAPE ROLLS	15.00	70.31	1,054.65
50	12" X 100 YDS, 3M TPM-5 CLEAR TRANSFER TAPE ROLLS	15.00	93.75	1,406.25
51	18" X 100 YDS, 3M TPM-5 CLEAR TRANSFER TAPE ROLLS	15.00	140.63	2,109.45
52	24" X 100 YDS, 3M TPM-5 CLEAR TRANSFER TAPE ROLLS	15.00	187.50	2,812.50
53	30" X 100 YDS, 3M TPM-5 CLEAR TRANSFER TAPE ROLLS	15.00	234.38	3,515.70
54	24" X 50 YDS, 3M DIAMOND GRADE FLOURESCENT VIP REFLECTIVE SHEETING, 3983 FLOURESCENT YELLOW GREEN	5.00	744.71	3,723.55
55	30" X 50 YDS, 3M DIAMOND GRADE FLOURESCENT VIP REFLECTIVE SHEETING, 3983 FLOURESCENT YELLOW GREEN	5.00	930.00	4,650.00
56	36" X 50 YDS, 3M DIAMOND GRADE FLOURESCENT VIP REFLECTIVE SHEETING, 3983 FLOURESCENT YELLOW GREEN	5.00	1,116.00	5,580.00
57	9" X 50 YDS 3M HIGH INTENSITY PRISMATIC REFLECTIVE SHEETING 3930 PRESSURE SENSITIVE ADHESIVE ALL COLORS	10.00	144.27	1,442.70
58	12" X 50 YDS 3M HIGH INTENSITY PRISMATIC REFLECTIVE SHEETING 3930 PRESSURE SENSITIVE ADHESIVE ALL COLORS	10.00	192.00	1,920.00
59	18" X 50 YDS 3M HIGH INTENSITY PRISMATIC REFLECTIVE SHEETING 3930 PRESSURE SENSITIVE ADHESIVE ALL COLORS	10.00	288.00	2,880.00
60	24" X 50 YDS 3M HIGH INTENSITY PRISMATIC REFLECTIVE SHEETING 3930 PRESSURE SENSITIVE ADHESIVE ALL COLORS	10.00	384.00	3,840.00
61	30" X 50 YDS 3M HIGH INTENSITY PRISMATIC REFLECTIVE SHEETING 3930 PRESSURE SENSITIVE ADHESIVE ALL COLORS	10.00	480.00	4,800.00
62	36" X 50 YDS 3M HIGH INTENSITY PRISMATIC REFLECTIVE SHEETING 3930 PRESSURE SENSITIVE ADHESIVE ALL COLORS	10.00	576.00	5,760.00

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2021-031 PURCHASE OF TRAFFIC SIGN MATERIALS

#	Description	Qty	Unit-Price	Extension
			GARDEN STATE HWY PRODUCTS, INC MILLVILLE, NJ	
63	42" X 50 YDS 3M HIGH INTENSITY PRISMATIC REFLECTIVE SHEETING 3930 PRESSURE SENSITIVE ADHESIVE ALL COLORS	10.00	672.00	6,720.00
64	9"X 50YDS 3M EC FILM SER. 1170 TRANS. ACRYLIC COLORED FILM ALL COLORS	10.00	114.75	1,147.50
65	12"X 50YDS 3M EC FILM SER 1170 TRANS. ACRYLIC COLORED FILM ALL COLORS	10.00	153.00	1,530.00
66	15"X50YD 3M EC FILM SER. 1170 TRANS. ACRYLIC COLORED FILM CLEAR, YELLOW, ORANGE, RED, BLUE, GREEN, BLACK, BROWN	10.00	191.25	1,912.50
67	18"X50YD 3M EC FILM SER. 1170 TRANS. ACRYLIC COLORED FILM CLEAR, YELLOW, ORANGE, RED, BLUE, GREEN, BLACK, BROWN	10.00	229.50	2,295.00
68	24"X50YD 3M EC FILM SER. 1170 TRANS. ACRYLIC COLORED FILM CLEAR, YELLOW, ORANGE, RED, BLUE, GREEN, BLACK, BROWN	10.00	306.00	3,060.00
69	30"X50YD 3M EC FILM SER. 1170 TRANS. ACRYLIC COLORED FILM CLEAR, YELLOW, ORANGE, RED, BLUE, GREEN, BLACK, BROWN	10.00	382.50	3,825.00
70	36"X50YD 3M EC FILM SER. 1170 TRANS. ACRYLIC COLORED FILM CLEAR, YELLOW, ORANGE, RED, BLUE, GREEN, BLACK, BROWN	10.00	459.00	4,590.00
71	42"X50YD 3M EC FILM SER. 1170 TRANS. ACRYLIC COLORED FILM CLEAR, YELLOW, ORANGE, RED BLUE, GREEN, BLACK, BROWN	10.00	535.50	5,355.00
72	FLOURESCENT ORANGE PVC CONES 18" TRAFFIC CONES, UP PER EACH	150.00	17.94	2,691.00
73	FLOURESCENT LIME GREEN PVC CONES, 18" TRAFFIC CONES UNIT PRICE PER EACH	50.00	19.74	987.00
74	FLOURESCENT ORANGE PVC CONES 28" TRAFFIC CONES, UP PER EACH	30.00	30.10	903.00
75	PORTABLE TRAFFIC DELINEATORS 42" WITH 2-3" WHITE REFLECTIVE BANDS, ORANGE FLOURESCENT COLOR FULL 360 VISIBILITY	20.00	40.27	805.40
76	DELINEATOR BASE - 15 LB WEIGHT HEXAGON RECYCLED RUBBER BASE UNIT PRICE PER EACH	20.00	26.73	534.60
77	IMPACT RESISTANT RIGID POLYETHYLENE "A" FRAME BARRICADE 42" H x 28" W @ LEGS W/ HOLE FOR 1"X8" I BEAM RAIL	24.00	36.64	879.36
78	PERCENTAGE DISCOUNT FOR MISC. ITEMS NOT LISTED ON THE BID	0.00	0.00	0.00
	Sub-Total			177,360.85
	Total of Items 1-78:			177,360.85